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Given information

Nz 0
— ~ Lounch angle- 53°
AN
/7 \ Engine bom time- 8.1sec
\
\ Neta of rocket whileengine bums - 4.2t
Vestical d rocket falis from mox height before
o C_,_O\‘:s‘\?':\' L ! farachute 0pens 2 tem b
:" Rocket wl parachute constant vertical speed» 6.0™Is
> Wind+ rocket ul parachute constant horizontal speed-220%/s
£ My Siroteqy:
£
4 +In pavt B, T uged the information
qen ko $ind Ax ond Ay for that
3 QarY 08 Wel s ¥he X and y Velodities
* Tn gark 8, Tsolved forine mon heignt
and odded it 4o my first AY 1o Gind how
higin ¥he mox peint Was, then suotracted
N ne vertical distone the recket £alls before
4 e, QOXOLhUEE OpRNS
" In gork G, T first sonved for-+he Hime it would
oke x0 Wit e ground and +then vsed {nat 10 find
ok secrions “AR"
+To get my final answer, T added the Ax from part a and
me‘e: (!nm rﬁb omﬁ Subfracied the Al'&‘:!\ part ¢
0 find the x dispiacement
)
= o
2 : axzyneioe V"= oy 108
=%7sec v 2
akz 0+L (1208%3)(81) .
Az42™I L a5 G519m V! = 0r2(4.24in53) 126942
N =0 L s Ny 229,182\
ANz v“’q-, *3 " iy
aY=0 + (425in53)(8.7) eyt v20ax
ANz 12069 P
Vgt = 04+2(4.2¢0853) - 956519
Vg=21.9903™/s
C) Lest pact
‘o-' A4.390Tm N
\:= [om axzvt Y=y ey b -Loart 152.086m*+ 95.6519 - 314,636
ax:-20(smp)| ° W' T
N,z 20™ls a%:-3M.636  [0=943907-6t +O = jee-Sm west
Ny 6™is 42181318 L Final answer




